Learn Russian

learnrussian.rt.com

Nouns Singular in the Genitive Case

The Genitive Case answers the questions Koro? Yero? and can be used to express
the absence of somebody or something:

Y MeHs ectb cobaka. (I have a dog) — Y Teba HeT cobaku. (You don’t have a
dog.)

HeT + object in Genitive

The Genitive Case is used to express the absence of any ingredient. If you wish to order

a pizza without cheese (for example), you should use the preposition 6e3 (without)
and an object in the genitive:

A xouy nmuyyy 6e3 coipa. U kode 6e3 Mmonoka.

oe3 HET HEe OBLIO HEe OyJleT
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+ (Genitive

bes + object in Genitive
@) Kode 0e3 caxapa. c@j Yaii 6e3 muMOHa. E, ; 5 Caunar 6e3 macna.
Kode 6e3 monoxka. Canar 0e3 MaitoHe3a.

Camnar 0e3 conmu.
Msico 6e3 rapHupa. % Boa 6e3 rasa.
Msico Ge3 coyca.

bes caxapa (JPG 234 KB)
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Genitive endings vary according to noun’s gender

Y Mens ectb + 4T0?
(Nominative case)

Y Mens Hert + yero?
(Genitive case)

OHa VYV MeHs ecTh BU3a. VY MeHs HET BU3BI.
VY 1ebs ecTh namma. VY 1e0s1 HET JTaMIIEL.
VY Hero ecTh MalIuHa. ¥V Hero HeT MaIlIMHEL.
VY He€ ecThb padorTa. VY He€ HeT paboThI.
Y Hac €CTh CEMBbSI. Y Hac HET CEMBbHU.
Y Bac ecTh uues. VY Bac HeT ugen.
VY HuX ecThb pobiemMa. VY HUX HET MpOOIEMEI.
VY Hac ecThb JBEPS. VY Hac Her nBepu.
Ending: -a — -b1, -1 — -1, -b — -u
OH/OHO 'V mens ects JPYT. V MeHs Her apyra.
VY 1ebs ecTb Opar. VY Tebs et Opara.
VY Hero ecth Macropr. Y Hero HeT macmnopra.
VY HEE eCcTb MyK. Y He€ HET MyXKa.
Y Bac eCTb KOHKYPEHT. VY Bac HET KOHKYpEHTA.
Y HuX ectb oduc. Y Hux HeT oduca.
VY Hac eCTh KaJeHaphb. Y Hac HEeT KaJieHaapsi.
VY Hac ecTh IIHBO. VY Hac HeT nuBa.
Y Hac ectb MOpE. Y Hac HET MOpHL.
Ending: zero ending — -a, -b — -1, -0 — -a, -e — -5
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Remember

Y MeHs €CTb BpeMs. — Y MEHsI HET BPEMEHU.
Y MeHS €CTh ACHbIU. — Y MEHS HET JICHET.
Y MeHs eCcTh MaTb. — Y MEHSI HET MaTepu.

Y MeHS €CTh A04Yb. — Y MEHS HET JOYEPH.
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Genitive and Tenses

—— Buepa (Past tense)

Q’Fﬁ Ceroans (Present tense) CJP 3aBTpa (Future tense)

Positive construction

VYV MmeHs ObLT JI0M.
VY MeHs Obli1a KBapTHpA.
VYV MmeHs ObLIO BUHO.

VY MmeHs ObUTH JEHBIN.

Negative construction

Y MeHd ecTb JIOM.
Y M€EHs €CTh KBapTHpA.
Y MeHS eCcTh BHUHO.

Y MeHd ecTh JICHBTH.

VY MeHs Oyzet oM.
VY MeHs Oyzet kBapTupa.
VY Menst OyaeT BUHO.

VY MeHst OyayT JIEHBIU.

VY MmeHns He ObUIO T0MA.

VY MeHs He ObLIO KBapTHUPBI.

VY MeHs He ObLJIO BUHA.

VY MeHs He ObUIO JEHET.

Y MeHd HeT IoMa.
Y MEHS HET KBApTHUPHI.
Y MeHA HET BUHA.

Y MeHS HET JIeHeT.

VY MeHs He OyAeT noma.
VY MeHs He OyeT KBapTUPHhI.
VY MeHs He OyAeT BUHA.

VY MeHs He OyAeT JeHeT.

o
Remember

VY Mmenst Hukorna He ObuT0 KBapTHUphl. (double negation + Genitive)

VY MeHs Bcerga Oblia KBapTUpa.



